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308 XX HHSOIA 44,265 37,952 6,313
= 40,770
= 3,495
01 MHXSHBAEEXZ 44,265 37,952 6,313
0YY =2 44,265
= 40,770




SN &I
Hy: b= - 0lS U SSNR(MSEN/2S - ISL0A)

CRl: OlsS=EXAEIA XIS (9 ®2
= HNE
SH-EFHHA(FA) - NIRAE - BES Of] koK 'oﬂ/'\_FOH Hws2

| & 3,495

JOjotsS dYA=REXZ2(=1) 44 171 36,966 7,205
= 40,684
< 3,487

308 AXIHMSOIA 44 171 36,966 7,205
= 40,684
& 3,487

01 AXEMIBLEES 44 171 36,966 7,205
OZMots YLAREXF 44,171
= 40,684
& 3,487

QES0Es 188 5 29X (=1) 449,118 422,778 26,340
= 345,475
[ 103,643

308 AUXIHMSOIA 449,118 422,778 26,340
= 345,475
& 103,643

01 MXESMIBAEXS 449,118 422,778 26,340
OREs50s 18 25 2gXA 449,118
= 345,475
& 103,643

IIEQEOls dullEEE XA (=21) 103,614 109,857 A6,243
= 95,434
[ 8,180

308 AXIHMSOIN 103,614 109,857 NG,243
= 95,434
& 8,180

01 AMAXESHMIBAEEXS 103,614 109,857 AB,243
OMEE =R 103,614
= 95,434
& 8,180

OrSZYXEAE XA (=1) 491,829 485,914 5,915
= 453,000
& 38,829

308 AXIHMSOIA 491,829 485,914 5,915
= 453,000
< 38,829

01 MHXSHBLEXZ 491,829 485,914 5,915
OCDA OHEXI& = 491,829
= 453,000
& 38,829

OISYNESAL 29 363,000 363,000 0
= 217,800
& 145,200

307 gI2told 363,000 363,000 0
= 217,800




SN 0EIHED
M2 1S - 01 ¥ ESXNV(MSEX/2S - HEL0E)

S Ols=EXAHA XH (¢t &
S EH . S(BH) - NEAY - B2 0fl Ak o gggf; HDE2

= 145,200

10 AtSISXIEX 363,000 0 363,000
O0IsS2ANESAIE 89 363,000
2 217,800
= 145,200

OlsEsdEJ2 29 556,000 528,000 28,000
= 333,600
& 222,400

307 212t0|A 556,000 528,000 28,000
= 333,600
& 222,400

10 AtSIS XX 556,000 0 556,000
O0tsEsdZ2)I& 229 556,000
2 333,600
= 222,400

20|12 29 180,000 180,000 0
= 90,000
& 90,000

307 212t0| A 180,000 180,000 0
= 90,000
& 90,000

10 AtSISAIEX 180,000 0 180,000
OZHI|I& 29 180,000
= 90,000
= 90,000

IIE/AEXN RN 2H 164,000 164,000 0
= 82,000
& 82,000

307 2I12t0| A 164,000 164,000 0
= 82,000
& 82,000

10 AtSISAIEX 164,000 0 164,000
OIIEAEXN AN 2 164,000
= 82,000
o= 82,000

O3 AHE SSAHIA(Z1) 3,450,000 3,000,000 450,000
= 3,450,000

308 AHXIEHHI SO A 3,450,000 3,000,000 450,000
= 3,450,000

01 AXSMMIMNEEZS 3,450,000 3,000,000 450,000
O0tsaEAYE SEAMHIA HSB 3,450,000
= 3,450,000

We start OIS &< 240,000 253,500 A 13,500

308 AFXIEHHI SO 240,000 240,000 0




SA: HEINED
HH: = - 0ls Y 2R (AMI=X/2S - I}

B
He
2
0x

S Ols=EXAHA XH (¢t &
SN (B) - MBEAY - B2 0l aF ol Soe HRZ2
01 AIXESMINEBEZ 240,000 240,000 0
OWe start Ot &9 A& 240,000
QloF - JIHEQEOIS AElIXE KEAIY(=2D) 19,271 0 19,271
= 17,750
== 1,521
308 XMXIEHHSOIN 19,271 0 19,271
= 17,750
== 1,521
01 MXSHAHBNEXS 19,271 0 19,271
OgY - It REOISA X ZHI 19,271
= 17,750
= 1,521
BFAHIA 23 110,095,443 99,241,429 10,854,014
= 83,403,174
== 26,692,269
EEAE & 14,100 17,500 AN 3,400
202 04l 14,100 12,500 1,600
01 2| 14,100 12,500 1,600
OBEAIY =& 14,100
T BESYBHEH 29(=21) 346,000 200,000 146,000
= 173,000
== 173,000
307 2I12to1A 346,000 200,000 146,000
= 173,000
== 173,000
10 AISISXIEZ 346,000 0 346,000
Ok E83d84H 29 346,000
= 173,000
& 173,000
BESAE SAA ELNE F=X(=20D) 53,256 80,656 A 27,400
= 26,628
& 26,628
307 212tolA 53,256 80,656 N27,400
= 26,628
== 26,628
10 AHISISXIEX 53,256 0 53,256
OERAILASAIAN ELSN= 53,256
= 26,628
& 26,628
B=AE HASS0ls A 274,670 280,000 A5,330
308 XXX SOI& 274,670 280,000 N5,330
01 IXSHHBAMNEEZ 274,670 280,000 A5,330
ONASS Ots ¢ & 274,670




A 0EIED
g IS - 0lS &
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& ESAHUIA 235

SN HB G (BH) - MRAY - BES Aro CEE Hlm= 2
Oil &k o8
BSANE 2E+F 42 147,240 133,590 13,650
308 MXIHHMSOIA 147,240 133,590 13,650
01 AXNHMBLAEEXS 147,240 133,590 13,650
OESAME s&E)| dL¢HzH XA 92,340
EFAE Wwad X 54,900
ESAME sFNA XN (21) 442,898 491,647 248,749
2 340,690
& 102,208
403 XXM SK=201H 442,898 491,647 248,749
2 340,690
& 102,208
01 MXESMA=2E = 442,898 491,647 A48,749
CESIIE 128,948
= 99,190
= 29,758
OME= 292,500
= 225,000
& 67,500
O&EHIEX 21,450
2 16,500
& 4,950
A SAMN HLHMAXA 716,848 430,860 285,988
308 MHXIHHMSOIA 716,848 430,860 285,988
01 MXSHIAEXZ 716,848 430,860 285,988
ORUAEFAIE ESWAN HRMA 568, 128
OE=SAE AL A2 124,500
OOt HEAIE EFUWAL =2 6,720
OESAE A RA 21HHl XI& 17,500
S2AM4E &5 NJ(21) 729,860 0 729,860
2 561,430
= 168,430
403 XXM SA201H 729,860 0 729,860
2 561,430
& 168,430
01 MXEMA=2E =R 729,860 0 729,860
ou= 515,360
= 396,430
& 118,930
ocl2dd 97,500
= 75,000
& 22,500
©J| Xt XH 117,000
= 90,000
& 27,000




SN &I
Hy: OlE - 0lS L SSNR(MSSN/2S - ISL0A)

o°tel: EsMHIA 23t (9 ®2
_ _ _ HET
A -3 -H2A(SH) - HEAMY - BES (il & OH Ofl At ot HwsZ
SFSALEESAMA d2HH D 30,000 18,000 12,000
308 XXIEHHISOIN 30,000 18,000 12,000
01 AXSHBAEEZ 30,000 18,000 12,000
OZ2e0ld otSla & MIEFUS 30,000
A SAX oAH X (=D) 26,076,398 26,699,765 623,367
= 20,088,686
[ 5,987,712
308 XX HHSO0IA 26,076,398 26,699,765 AN623,367
= 20,088,686
[ 5,987,712
01 UHXSHBAEES 26,076,398 26,699,765 623,367
OBSESSMUIA(SAXRI2HI) 26,076,398
= 20,088,686
= 5,987,712
SSYZHEH 29 X 12,000 0 12,000
308 XIXISHHISOIA 12,000 0 12,000
01 AXSHBMEES 12,000 0 12,000
OYE ERFZHE 294 X 12,000
MASS MSES2 N (2D) 76,204,327 43,110,508 33,093,819
= 58,618,713
[ 17,585,614
308 X XISHHSOIN 76,204,327 43,110,508 33,093,819
= 58,618,713
[ 17,585,614
01 MHXSHHBAEES 76,204,327 43,110,508 33,093,819
ogRritEsz N 76,204,327
= 58,618,713
[ 17,585,614
ANE0I0I20IE ZFXA(21) 3,646,239 2,575,820 1,070,419
= 2,747,731
= 898,508
308 X XISHHSOIN 3,646,239 2,575,820 1,070,419
= 2,747,731
= 898,508
01 RXSHBAEEZ 3,646,239 2,575,820 1,070,419
OE2=A4 010180t Ld=FXA 3,646,239
= 2,747,731
[ 898,508
CREINE 282 SEXL 301,422 312,000 10,578
308 XXISHHSOIA 301,422 312,000 A~ 10,578
01 MHXSHBAEXZ 301,422 312,000 210,578
OAITOL 014 282 XA 301,422




A 0EIED

Hy: OlE - 0lS L SSNR(MSSN/2S - ISL0A)
ol BEAHIA 25 (ol &2
_ _ _ Muo
SN -EHH . (B) - MPAY - BE2 O &t 04 Sl ko HRE2
FRAETN(2D) 668,065 668,065 0
2 513,896
= 154,169
308 XX EHHSOIA 668,065 668,065 0
= 513,896
= 154,169
01 MXEHINELS 668,065 668,065 0
ORSAL 2Y X 668,065
= 513,896
= 154, 169
228 2sAA 432,120 0 432,120
2 332,400
= 99,720
308 XX SHHSOIA 432,120 0 432,120
2 332,400
= 99,720
01 AXEHINELS 432,120 0 432,120
0338 E=sAl4 432,120
= 332,400
= 99,720
SR 2 A A (0181 = 1) (JIEH/IIEH 33,360 30,310 3,050
=2 33,360 30,310 3,050
2FA2Y Jl=Z 4l 33,360 30,310 3,050
201 Let2d| 24,720 22,130 2,590
01 AtE22(Hl 24,720 22,130 2,590
oRM2Y A2l 24,720
202 14| 8,640 7,680 960
01 2UWHYI 8,640 7,680 960
FA2E =UHHYI 8,640




